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Past papers



Analgesics



Opioid that is used in labour and has less stress
on fetus:

A. Meperidine
B. Fentanyl
C. Methadone
D. Morphine
E. Naloxone
Answer: A



Which of the following drugs treats difficult-to-treat
pain, especially when morphine fails?

A. Fentanyl

B. Meperidine

C. Oxycodone

D. Methadone

E. All of the above

Answer: D



Why don't we give naloxone to opioid addictive?
A. Addictive has high drug metabolic activity

B. Addictive has less receptors

C. Naloxone is not an antidote

D. Addictive has increased receptors

E. None of the above

Answer: B









Anxiolytics



Which of the following agent is preferring to be
used in terminating status epilepticus?

A. Flumazinel

B. Gabapentin

C. Diazepam

D. Hydromorphine

E. Tramadol

Answer: C



Which of the following drug enhances
the action of GABA?

A. Dantrolene

B. Baclofen

C. Benzodiazepines

Answer ,,,,,C









Dose dependent effect?
A. Suvorexant

B. Buspirone

C. Ramelteon

D. None of the above
Answer: A
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